SNS COLLEGE OF TECHNOLOGY
(AN AUTONOMOUS INSTITUTION)

; a.
Hrorons
G@IMB&T@RE -— 85 WWW.SNSEroups.com
DEPARTMENT OF MATHEMATICS
‘ ':Q;,{(o.“g Sorles: /
Iy Ftad B analyiic okt a wfcle ¢ e
(erlle at =z

i ‘( 2) Coan e . r"!w = 4
.‘{ 2)

¥
&
= *"in_) . g N - .

[ LZ-A) o, vp'.{;";‘- NYals
Y e d T -—:: - !' oayr P ‘ ¢ )
) » s ’ 13 _..: J
Ui o ovaaent ol Quany E& S Aia a
s : i - ~ L8
--“\-'-J lapl €& BN o AlZ) abc
“Ote l v~ & r &l
- N4 ak e port 2©
Tre Taylors seres o ™) aloouk -
¥ R
. fwo) « 2 Flltod+ = §
V& .y ’ \

s 1)
. ¥ o) +--

S S A Ty 2

-

® Fxqanrd $r) = \,1:8(\*7.) ad ‘Taa(o"s AOARS

"
opour 2=0 Lt)
121 ) o
‘—‘(_;»\» V‘
l.
14
i ) e L85
Touk ses Seues Lotk 2
' f
( A10) 4 X |
DT = 4 = - ' 4
C f _ |

UNIT - 4

Ms.SUNANTHA,AP/MATHEMATICS

Page 1



SNS COLLEGE OF TECHNOLOGY
(AN AUTONOMOUS INSTITUTION)

; a_
COIMBATORE - 35 TITU 1T
DEPARTMENT OF MATHEMATICS WWW.SNSEroups.com

® Fxparnd ¥ = sz abeuk z=T3 b Byl stio
'F(Z) = +(ﬂl5) = c,oe.@a) = VYo

(W)= — Ln(Ta)= - Va2
UMD = — LOS(T3) = ~12

ced z
f12) = —gin=
' (2) - —texz

F2)= gin=

przy= s a8 = a2

..r%(m.fs = I(‘_”
?(I) = 'f'("“s) * LZ\:‘IB').-g "(R3) 4 (él,r'f)— o (’[]3)-\.
- Gﬁ’f—@ (Z-42) + (z-;&y‘-(_ .

2
(=-%5) 15,

a)

- ) - L=2- '“-5) ,[1\
TR i

(2 I) ‘Lz-xlg)ér
0« € -
® Expand D=2z & a ‘Ta;dlu‘ﬁzagzs obout 2 =Ty

f Ay = BOE = 55

(X =/ X = Y
_,5.;({ 2= (o8 'F’ C 'l—r) = = I J 2
S frimhy) - —20(B) = Vs
ALNES o= fNRIy) = - e’ (%) o AR
E zZ)= — U=

©s z=a

\au l‘\' 2 ’é')_". £ f@Qm“]d —‘?d‘f )

fC=. Hoo Cz-2Y ercat e ) $ @+ gMa) +..
(=) = TV it i L—_

\ a!

. i B z - K| 2 ",
s A(Ey 2T f(my 4 " g )+ S B by
o= FE)Y — | _
1—(*):— L) 0 2) 3 N

UNIT - 4

Ms.SUNANTHA,AP/MATHEMATICS Page 2



SNS COLLEGE OF TECHNOLOGY < -
(AN AUTONOMOUS INSTITUTION) ~»
COIMBATORE - 35 B
DEPARTMENT OF MATHEMATICS

Www.snsgroups.com

F(z)_ _L + (Z- T) (&;) + (2- ﬁf) (—-\ %

-

—

fi+—_\—(7_z-) _—|7

(2 )(

=3 . (2-5)3+...
"‘ (ApR 9
:) E%P.nd .F(-z_)-e ax Tqam fosups aboul \h,?om\' =z =0O
i and =g
Pty =e*

Devivatires ol 2 =0
Ho) = @ =}
freay=2*

F'co> - Q_o =)
' z)= %

Py = S=1
—p = e .
P'ar=e £ -
=4

‘T:l-ﬁ oxs 39&0&

(z-ad”
o) w 2 ¥y . .
2= {A—(,Clh) <+ (ZTZ.Q -F’(Q) + —;‘—' § ey

'2.

o) 4 g -5 Gleod &9 ?"Lo)»fkb 03B .
\.

r

" 3
=14 & WY 2_&) ,‘/+---

\ 2"

W wN

__3
— 1+ Z% _—+-vv+
=X

UNIT - 4

Ms.SUNANTHA,AP/MATHEMATICS

Page 3



